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QUESTION 1

A FortiGate device is configured with two VDOMs. The management VDOM is \Wroot\\' , and is configured in transparent
mode,\\'vdom1\\' is configured as NAT/route mode. Which traffic is generated only by \Wroot\\' and not \\'vdom1\\'?
(Choose three.)

A. SNMP traps

B. FortiGaurd

C. ARP

D. NTP

E. ICMP redirect

Correct Answer: ABD

QUESTION 2

An administrator has formed a high availability cluster involving two FortiGate units.

[Multiple upstream Layer 2 switches] ?[FortiGate HA Cluster] ?[Multiple downstream Layer 2 Switches]
The administrator wishes to ensure that a single link failure will have minimal impact upon the overall
throughput of traffic through this cluster.

Which of the following options describes the best step the administrator can take?

The administrator should

A. Increase the number of FortiGate units in the cluster and configure HA in active-active mode.

B. Enable monitoring of all active interfaces.

C. Set up a full-mesh design which uses redundant interfaces.

D. Configure the HA ping server feature to allow for HA failover in the event that a path is disrupted.

Correct Answer: C

QUESTION 3

Which is true about incoming and outgoing interfaces in firewall policies?
A. A physical interface may not be used.

B. A zone may not be used.

C. Multiple interfaces may not be used for both incoming and outgoing.
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D. Source and destination interfaces are mandatory.

Correct Answer: D

QUESTION 4

Which two web filtering inspection modes inspect the full URL? (Choose two.)
A. DNS-based

B. Proxy-based

C. Flow-based

D. URL-based

Correct Answer: BC

QUESTION 5

Which of the following network protocols can be inspected by the Data Leak Prevention scanning? (Choose three.)
A. SMTP

B. HTTP-POST

C. AIM

D. MAPI

E.ICQ

Correct Answer: ABD
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